2014 Sample P.2 Q.9 Trigonometry March 24, 2015

Question 9 (25 marks)

A regular tetrahedron has four faces, each of which
1s an equilateral triangle.

A wooden puzzle consists of several pieces that can
be assembled to make a regular tetrahedron. The
manufacturer wants to package the assembled
tetrahedron in a clear cylindrical container, with one
face flat against the bottom.

If the length of one edge of the tetrahedron is 2a,
show that the volume of the smallest possible

a 2a

cylindrical container is [%} ra’.
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